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(24) |=3)=
(@) 3 (b) -5
() a3 (d) -4
25) Range of the function f(x)=|x]is
(@) the real numbers, (b) the natural numbers.
(©)__ the rational numbers i
@) 5z . (d)  the integer numbers.
3
(@ 120°
() 240°
@ s
S (d) 420°
< € radi : -
1us of a circle is 1em, what angle is subtended by an arc of 2em?
(@) 2rad.
(b) 3rad.
()  4rd
. (d) 5rad
(28) SEE{:U")xtan(]SS"):
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a oyD
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-
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(c) — 2
= =1
3 : (d) \,’E
(29) szm[zi"}x cns[ES"]:
(@)  sin(100°) (b) sin(50°)
(©) cos(100°) (@ cos(50°)
(30) Range of the trigonometric function sin(6) is
(@ [-L1] ®) [0,x)
© (o) @) (=)
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